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ECONOMICS
PAPER - II
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yy-II

Note :This paper contains FIFTY (50) multiple-choice, assertion/reasoning/

matching questions, each question carrying TWO (2) marks. Attempt All

the questions.

AL B ueusdl wwd (wo) eglRsedly wadl, w-lg A ASsl siriadivl Wadl
B, ddiM el el dudi-l 8. dds usq 6 () w8,

1. In the Marshallian utility
analysis, consumer’s equilibrium

is attained, when :
(A) total utility is equal to price
(B) marginal utility is zero

(C) marginal utility is equal to

price
(D)  total utility is zero

2 What is elasticity of factor
substitution in case of ‘L’ shaped

isoquants ?
(A)  Zero
(B) One

(C) Infinite

(D) Positive
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3.  When Marginal Cost and Average 3. %13 [EMid wal a4 w3z wBaR
Variable Cost are equal, then the vl WA A 9 HIna 2Ry
Average Variable Cost will be : wad Yed L., 29l
(A) Zero (A) I
(B) Constant (B) [Ruz
(C) Maximum (C) Hsd™
(D) Minimum (D) HYrcdH

4. Which combination of the ‘concept’ 4. {lA-unid 54 ‘Rgic’ 217 ‘wfaus{l’
and the ‘economist’ is correct ? d Al wy 8 7

List of Concepts  List of Economists Grgididl 4l s uas(lzti-l wel

() Theory of social (M deums sdlatidl @) Wl Ylew

choices (i) JohnRawls Bigid

(I Exploitation of Labour (ii) P.A. Samuelson () YMe M iy MLl Foyaun

@D Veil of Ignorance (1) Kenneth Arrow (I st YSEL (i) e BT

(IV) Grand Utility Frontier (iv) Mrs. Joan Robinson (IV) ey [1._['?‘2;‘1‘5‘. ak tiv) 2l He gisllnwe

O I dm av M (I I Iv)
A @@ O (i) (@) (A)  Gv) () i) (D)
(B) @) @) () (i) (B) G ) (v) (i)
C) Gv) @) i) 6 (C)  (v) G G G
D) () G @ (it) (D) Gi)  Gv) () (iD)
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In the theory of distribution, who
of the following is associated with
the development of ‘product

exhaustion problem’ ?

(A) J.B. Clark

(B)  Phillip Wicksteed

(C) James Tobin

(D) Leonhard Euler

Paretian optimality presupposes :
(A) absence of externality

(B) equal distribution among
equal income groups

(C) uniform income
distribution

(D) absence of homogenisation
of factors of production

‘Length’ and ‘breadth’ of

Edgeworth Box in case of

exchange between two persons is

decided by :

(A) government’s pricing policy

(B) bargaining power of two
individuals

(C) availability of two goods in
the economy

(D) Paretian optimality

conditions
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8. The life cycle income consumption 8-

hypothesis was given by :
(A)  John Maynurd Keynes
(B) Fisher

(C} Milton Friedman

(D)  James Duesenberry

9. According to classical writers, the 9.

demand curve for labour is
downward sloping because they

argue that :

(A)  real wage rate is equal to
the marginal product of the
labour

(B)  Utility of the real wage rate
is equal to the marginal
disutility of any given
volume of unemployment

(C)  Reduction in money wages
is likely to reduce the prices
of goods by more or less the

same percentage

(D) Reduction in money wages
would not reduce real

wages

Eco.-II 6
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10.  The value of investment multiplier
is higher in :
(A) Barter economy
(B) Open economy
(C) Mixed economy
(D)  Closed economy
11.  The reduction in the gap between
REPO and Reverse REPO rate is
the indication of :
(A)  Shortage of liquidity in the
economy '
(B) Shortage of credit in the
economy
(C)  Poor banking system in the
economy
(D)  Excess liquidity in the
economy
12, The emphasis on wealth as a
determinant of the demand for
money is pronounced in the
writing of :
(A) Milton Friedman
(B) Metzler
(C) Keynes
(D)  Fisher
Eco.~II
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13. The transaction

demand for

money is not only a function of

income but also of the rate of

interest. This is the contribution

of :
(A)
(B)
()
(D)

W. J. Baumol and J. Tobin
W. J. Baumol and Keynes
J. Tobin and Keynes
J. Duesenberry and
Goldfeld

14. If the IS curve cuts the LM curve

in the Keynesian trap, increase in

money supply :

(A)

(B)

(C)

(D)

Will not affect the level of

income at all
Will be

increasing the level of

effective 1in

income
Will reduce the level of
income
Will reduce the rate of

interest

15. Cost-Benefit analysis relates to :

(A)

(B)

(C)

(D)

Eco.—II

Optimum benefit of a
project
Optimum expenditure of a
project
Optimum income from a
project
Optimum social loss of a

project
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16. Modern economic development
relates to :
(A) National income
{(B) Per capita income
(C) Human development
(D)  Agricultural development
17. The growth strategy of circular
causation is based on :
(A)  Spread effects and spill over
effects
(B) Transformation of
Traditional Sector
(C) Modernisation of Industrial
Sector
(D) Modernisation of Service
Sector
18. Greater the gender disparity in
basic human development, then :
(A) GDI is greater than HDI
(B) GDI is lower than HDI
(C) No significant variation in
HIM
(D) GDI is equal to HDI
Eco.-1I1
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19.

20.

21.

22,

The Big push theory was
propounded by :

(A) Lewis

(B)  Schumpeter
(C)  Myrdal

(D) R. Rodan

Eleventh five year plan strategy

is based on :

(A)  Exclusive Growth

(B) Inclusive Growth

(C) Endogeneous Growth

(D)  Exogeneous Growth
Which five year plan made India

a market oriented economy ?
(A)  Fifth plan

(B) Tenth plan

(C) Eighth plan

(D)  Eleventh plan

Buoyancy of taxation is given by

the ratio :

(A) Relative increase in tax
revenue/Relative increase
in tax base

{(B) Relative increase in tax
revenue/Helative increase
in income

(C) Tax revenue/GDP

(D) A Tax revenue/A Govt.
Expenditure

Eco.-II

10

19.

20.

21.

22.
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23. The Chairmans of 10th, 11th and
12th Finance Commissions were ;
(A) C. Rangrajan, K.C. Pant
and Vijay Kelkar
(B) K.C.Pant, A M. Khusro and
C. Rangrajan
(C) Manmohan Singh,
~ C. Rangrajan and A. M.
Khusro
(D)  Vijay Kelkar, C. Rangrajan
and Montek Ahluwalia
respectively
24,  Which of the following tax in India
is shared between State and
Union Govt, ?
(A) Service Tax
(B) Sales Tax
(C)  Custom Duty
(D)  Income Tax
25. Laffer curve refers to :
(A) Trade off between Tax
revenue and NI
(B) Trade off between Tax
revenue and Tax rate
(C) Trade off between Tax
revenue and Growth rate
(D) Trade off between Tax
revenue and deficit finance
Eco.—1I
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26. Municipal garden is a : 26.
(A) Merit good
(B)  Private good

(C)
(D)
27. Corporate tax is a :

Private and Public good
Pure Public good

(A) Indirect tax <

(B) Direct tax

(C) Personal tax

(D Sales tax

28. The FRBM Act is referred as :

{A) Fiscal Responsibility 58,
Budget Management Act

(B) Fiscal Resources Budget
Management Act

(C) Finance Regulatory Budget
Management Act

(D) Finance Reform Budget

Management Act

29. The exact price ratio at which 29,

goods must exchange after trade
in the framework of two countries

and two goods was first explained

by :

(A) J.8. Mill

(B) Adam Smith
(C) David Ricardo
(D)  Paul Samuelson

Eco.-11 12
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30.

31.

The situation of factor intensity

reversal ¢

(A) invalidates Heckscher-

Ohlin trade theorem

(B) invalidates factor price

equalisation theorem

(C)  is necessary for the validity
of the Heckscher-Ohlin

theorem
(D) Both (A) and (B)

Gross Barter Terms of Trade is

defined as :
M,
(A) X_ . 100

i

30.

31.
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32,  The extent and effectiveness of the
lobbying activity by pressure

groups in political market for

protection is associated with :

(A)
(B)
(C)
(D)

Frey B.
Falvey R.C.
Friedman M.

Greenway D.

33.  Which of the following is not the
part of WTO Agreement ?

(A)  Cut in customs duty

(B) Patent Rights

(C) Investment transfer

(D)  Currency rate manipulation
34. Increase in money supply in the

economy :

(A) increases income and

(B)

(D)
Eco.—II

increase in imports in the

economy

reduces rate of interest and

increases outflow of capital

the affect of increase in
money supply in the
economy on balance of

payments is predictable
All of the above
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36 If the nominal rate of tariff is 30%, 35.
percentage of imported inputs in
locally produced goods is 50% and
the rate of tariff on imported input
is zero, then the effective rate of
protection will be :

(A)  60%
(B) 30%
(C) 50%
(D) 20%

36. The construction of Services Price 6.
Index in India was recommended
by :

(A)  Dr. Rangrajan Commission
in 2001

(B) Dr. Rangrajan Commission
in 2010

(C) Dr. Ahluwalia Commission
in 2009

(D) Dr. Manmohan Singh
Commission in 2005

37. Infant mortality rate was highest  37.

in 2008 in :
(A) Madhya Pradesh
(B) Orissa
(C) Rajasthan
()  Himachal Pradesh
Eco.-II 15
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(A} 60%
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(D} 20%
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38.

39.

40.

41.

Primary deficit of the Govt. of

India was negative during :

(A)  2006-07 and 2007-08
(B)  2008-09 and 2008-10
(C)  2006-07 and 2008-09
(D) 2007-08 and 2009-10

A new WPI series was released in

September 2010 with base year :

(A)  2004-05
(B) 2009-10
(C)  2008-09
(DY 2007-08

The term BRIC was coined by :

(A) Jagdish Bhagwati
(B) Amartya Sen

(C) Goldman Sachs
(D)  W.W. Rostow

The state which had highest share
in Indian exports during 2009-10

was :
(A) Gujarat

(B) Maharashtra

(C) Andhra Pradesh
(D) Karnataka

Eco.-I1
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(A) 2006-07 - 2007-08
2008-09 ui- 2009-10
2006-07 2+t 2008-09
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(B)
(C)
(D)

el el edl.

{262, 2010 i Adl WPI (sraieig
oiais) L fiell uBie sami sudl
Fd a9

(A) 2004-05

(B) 2009-10

(C) 2008-09

(D) 2007-08

.

‘BRIC® ilee

(A) waelsl sqoadl

(B) Ml A

(C) OleSH~ HLLA
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GLRL wAYCMD ALedl,

o 2009-10 s32 MLdla Rl
Aldl ay sl qzadly 2wy ¢
(A) 3% RUd
(B) Ml
(C) i Uzal
(D) sales

9.




42. The main feature of the
Employment Guarantee Scheme
Act of 2005 is that, it is socially
monitored by :
(A) Central Government
(B) State Government
(C) Gram Sabha
(D) District Collector
43. If X, and X, are the means of
two samples having sizes n, and
ny respectively, the combined
mean will be given by :
X, +X
2
(B)
nl}_il + nz}_{g
(C)
iy, + Ny
D X, +X,
Eco.—-II
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44,

45.

46.

If each of the 25 students of a class
secured 49 marks in an Economics
Paper, what is the standard

deviation of marks in this case ?

R
(VI
..
(B) -
© 1
D 0

Sum of the deviations of the values
taken by a variable from its mean

value is always :

(A)  Positive
(B) Negative
(C) One

(D) Zero

For a Binomial Variable, if
n = 100 and p = 0.5, then the

mean of the distribution will be :

(A)  Zero
(B) One
(C) 50
(D) 100

Eeco.-II
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(B)

(C) 1
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47.  For a normal distribution, which 47.
of the following is true ?
(A)  Mode > Mean > Median
(B) Mode < Mean < Median
(C) Mode = Mean = Median
(D) Mean < Mode < Median
48. Value of the Spearman’s 48
correlation coefficient always lies
between :
(A) 0 and -1
(B) -1 and +1
(C) =10 and +10
(D) =100 and +100
49.  Ifthe slopes of the regression lines  49.
of Xon Y and Y on X are 0.8 and
0.2 respectively, the coefficient of
correlation will be :
(A) 0.25
(B) 0.2
(C) 040
(D) 0.16
50.  Which one of the following tests, a0,
is a non-parametric test ?
(A)  t-test
(B) F-test
(C)  z-test
D) y2test
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s uMIey [Adze e, LAl sy
Wy 9 7

(A)
(B)
(C)
(I

Yl 3 AL
O LTI

(A) 0 2 —1
(B)
(C) —10 i +10

(D) —100 i< +100

Al a2 ¢id 8.

A X Al Y udl w4 v Al X vzl
(e doia Ivislidl a1l w1445 0.8
M 0.2 iy dl, usdoitisdl Bud :
(A) 0.25

(B) 0.12

(C) 0.40

(D) 0.16 s,

Al-unizl sy ulaw ofld-windly
ylews 9 7

(A) £-ulae
(B) F-ulam

HEds > HES > HEYu

GlEEs < MBS < HEMRY
Blgds = ML = MUY
UES < GlgUS < MUY

Hadoigisdl [5Hd

-1 21 +1

(C) z-ulae
(D) x2-ulew

[P.T.0.]




ROUGH WORK
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